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VI Semester 3 Year LL.B./X Semester 5 Year B.A. LL.B./B.B.A.LL.B./
Iil Semester 3 Year LL.B./VIl Semester 5 Year B.A.LL.B. (Maj.-Min.)/
B.B.A.LL.B. Examination, December 2019
LAW OF TAXATION
(Old and New Batch)

Duration : 3 Hours Max. Marks : 100

Instructions : 1. Answer Q. No. 9 and any five of the remaining questions.
2. Q. No. 9 carries 20 marks and remaining questions carry
16 marks each.
3. Answer should be written either in English or Kannada
completely
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. What is tax evasion and tax avoidance ? Discuss their effects
and methods of prevention. Marks : 16
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. What is ‘Previous Year' ? Explain the exceptions to the rule
of previous year. Marks : 16
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. Explain any sixteen items of exempted income under Section 10
of Income Tax Act. Marks : 16
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. What is ‘Annual Value' ? State the deductions that are
allowed from the annual value in computing income from
house property. Marks : 16
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Q. No. 5. What are the circumstances under which income of one
person can be clubbed with income of another ? Explain. Marks : 16

o v, e ) & P 2 mrdn e e o —— - — \ -
CIRR CIRW ATLFNTL. 8L 2,000 0D .».)“JJ PPNEOIN) ../3

®w o=

(=iwnlovelainrety

Q. No. 6. Briefly explain the benefits of GST on business and
consumers. Marks : 16
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. Explain the powers of customs officers. Marks : 16
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. Write short notes on any two of the following : Marks : 2x8=16
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(a) Casual Income
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(b) GST Council
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(c) Import or Export by post.
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. Solve any two of the followmg problems : Marks : 2x10=20
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(a) John, an American citizen, was appointed as a senior
scientific officerin India on 15t April 2006. On 315t Jan. 2014
he went to Uganda on deputation for a period of 3 years,
but left his family in India. On 15! May 2015 he came to
India and took with him his family to Uganda on 30" June
2015. He returned to India and joined his original job on
2nd Feb, 2017. What would be his residential status for the
Assessment Year 2017-18 ?
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(b) Draw a format of taxable income from salary after due
deductions.
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Write a format determining the taxable income from other
sources.
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Third Sem. 3 Yr. LL.B./Seventh Sem. 5 Yr. B.A. LL.B. (Maj.-Min.-System)/
B.B.A.LL.B./Tenth Sem. 5 Yr. B.A.LL.B/B.B.A.LL.B/Sixth Sem. 3 Yr. LL.B.
Examination, June/July 2019
LAW OF TAXATION
(Old and New)

Duration : 3 Hours Max. Marks : 100

Instructions : 1. Answer Q. No. 9 and any five of the remaining
guestions.
2. Q. No. 9 carries 20 marks and the remaining questions
carry 16 marks each.

3. Answers should be written either in English or Kannada
completely.

. Define “Income” and explain the concept of income. Marks :
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Define the term “Salary”. State items under the head salary.  Marks :
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What is meant by business and profession ? What incomes
are chargeable to income tax under the head profits and
gains of business or profession ?
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Explain the power of the Commissioner of Income Tax to
reduce or waive penalty under I.T. Act. Marks :
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. Discuss the provisions of residential status of different
assessees under Income Tax Act, 1961.
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Q. No. 6. Explain the procedure for clearance of imported goods from
the Port under Customs Act, 1962. Marks : 16
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What is CGST and SGST ? Explain the salient features of
Marks : 16

Write note on any two of the following : Marks : 2x8=16
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a) Previous Year
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b) Constitutional provisions relating to GST
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c) Defective returns.

Solve any two of the following : Marks : 2x10=20
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a) A person has sustained a loss of Rs. one lakh in his
speculative business. He wants to claim set-off of this loss
from his income of Rs. thirty thousand received under the
head income from house property. Will he be allowed to do
so under the law ? Decide with reasons.
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b) A, while travelling in KSRTC bus, meets with an accident
and is temporarily disabled. KSRTC pays an amount of
Rs. 10,000/- as compensation to him. State whether the
amount is revenue receipt or capital receipt.
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‘A’ company is formed solely to do the business of building
houses and letting them on rent. Is this income of the

company taxable, if so under what head of the income ?
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Il Semester 3 Year LL.B/VI Semester 3 Year LL.B./X Semester 5 Year
B.A.LL.B/B.B.A.LL.B./VIl Semester 5 Year B.A.LL.B. (Maj.-Min. System)/
B.B.A.LL.B. Examination, June/July 2018
LAW OF TAXATION
(Old and New Batch)

Duration : 3 Hours Max. Marks : 100

Instructions : 1. Answer Q. No. 9 and any five of the remaining
questions.

2. Q. No. 9 carries 20 marks and the remaining questions
carry 16 marks each.

3. Answers should be written either in English or Kannada
completely.

What is annual value ? How it is determined ? Marks :
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Explain which incomes are included under the head income
from “Other sources”.
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Explain the provisions relating to deductions of tax at source.
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What is depreciation ? What are the expenses and payments
disallowed while computing income from business and
profession ? Explain.
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Explain the circumstances under which incomes of other person
are included in the total income of assessee.
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Q. No. 6. Define CGST and SGST. Explain levy and collection of GST
on supply. Marks : 16

5 ~
23R 830306)

What is baggage ? Explain the provisions of the Customs Act,
relating to baggage. Marks : 16

Q. No. 8. Write notes on any two of the following : Marks : 2x8=16
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(a) Tax evasion and tax avoidance.
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(b) Advance payment of tax.
3oricd TwenE Bowwol.
(c) Perquisites.
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Q. No. 9. Answer any two of the following : Marks : 2x10=20
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(a) ‘A’ an employee received Uniform allowance from the employer. Is it
taxable income ?
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Explain the rules determining the residential status of an individual
assessee.
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Give a format determining the taxable income from salary.
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VI Semester 3 Yr. LL.B. /X Semester 5 Yr. B.A. LL.B./B.B.A. LL.B./

Il Semester 3 Yr. LL.B./ VIl Semester 5 Yr. B.A. LL.B. (Maj.-Min.) /B.B.A. LL.B.

(Old/New) Examination, December 2018
LAW OF TAXATION

Duration : 3 Hours Max. Marks :

Instructions : 1. Answer Q.No. 9 and any five of the remaining
questions.
2. Q.No. 9 carries 20 marks and the remaining questions
carry 16 marks each.

3. Answer should be written either in English or Kannada
completely.

. Explain the provisions regulating tax incidence on capital gains. Marks :
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. The incidence of income tax depends upon the residential status
of an Assessee. Explain.
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. Explain the factors to be considered while assessing the taxable
Income from House Property.
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. Explain the importance of place of supply under CGST and
SGST.
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. Explain the provisions governing Registration under GST. Marks :
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Q. No. 6. Explain the powers and functions of various authorities under
3 the Customs Act. Marks : 16
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Write short notes on any two of the following :

o o, — o v £ 4 Gl Ao AN
CIRRTHTITR ACBT BOBD L3TES LTOCAD

(1) Taxability of agricultural income
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(2) Constitutional background of GST.
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(3) Works contract. (GST)
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Q. No. 9. Solve any two of the following : Marks : 10+10=20
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(a) A TV channel pays Rs. 25 lakhs on 1% July 2018 as prize
money to the winner of a quiz programme “Who will be a

Millionaire”. Is there any requirement of tax deduction on
the prize money ?
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(b) The gross totalincome before deduction under Sec. 80 C of X
a resident individual, aged 64 years is Rs. 3,20,000/- and total
income after deduction under Sec. 80C is Rs. 2,85,000/- Is it
necessary for him to subunit his return of income voluntarily ?
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‘X’ transferred a building to his friend ‘Z’ on Dec. 15", 2009.
On the condition the building will revert back to X’ after
the death of ‘Z’. Monthly rental income from building is
Rs. 45,000/-. Rental income is taxable in the hands of X’ or‘Z’ ?
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VI Semester 3 Yr. LL.B./X Semester 5 Yrs. B.A. LL.B./B.B.A. LL.B./
Il Semester 3 Yr. LL.B./VIl Semester 5 Yr. B.A. LL.B. (Maj.-Min.)/
B.B.A. LL.B. (New) Examination, December 2017
LAW OF TAXATION

Duration : 3 Hours Max. Marks : 100

Instructions: 1. Answer Q. No. 9 and any five of the remaining questions.

2. Q. No. 9 carries 20 marks and the remaining questions
carry 16 marks each.

3. Answers should be written either in English or Kannada
completely.

. What are the incomes chargeable under income from salary 7
And state the deduction from salary.
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Explain the various types of assessments under Income Tax
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Explain the tax liability of an assessee's with reference to his
residentia! status.
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Briefly explain the provisions relating to set-off and carry forward
of losses.
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What is Dual GST Model ? Explain its features.
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Discuss the method to calculate ‘Income from House Property’

for Income Tax purposes. Marks : 16
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Q. No. 7.

Discuss the provisions under the Customs Act relating to dutiable

goods and valuation of goods. Marks : 16
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Write notes on any two of the following : Marks : 2x8=16
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a) Short term and long term capital gains
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b) Refund of Income Tax.
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c) Depreciation allowance.
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Solve any two of the following problems : Marks : 2x10=20
NS ceRPEde T 5&"))»1\ "J: 2 WRAD :

a) “A" a resident of India earned agricultural income from England. Is
he liable to pay tax on this income under the IT Act 1961 ?
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Draw a format showing computation of taxable income under the
head “Income from House Property”.
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An assessee was an authorized dealer of Sony Electronic products
which were sold to different customers in Karnataka under the direct
billing from Sony Ltd. in Delhi. Is there a sale in the course of inter
state trade or commerce ? Give reason.
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